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ECONOMICS
( General )

Paper : 5.2

( Introduction to Growth and
Development Economics )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
T AT ficpIR B ore
(a) State any one cause  of
underdevelopment.
SREPROR R At @b PR B |
(b) Write True or False :
S (e foray) ¢

By economic development, we mean
Increase in gross domestic product per
capita income over time.

AT Stz AR TRR oo 3™
(2R o T SR S T |
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(2)

“Development is a chain of
disequilibria....” Who said this?

T (R TR G R I GTA Y
@A CFfRE 2

Fill in the blank by choosing correct
one :

yTeH! M TR R S R w0

is associated with the theory of
balanced growth.

(H. W. Singer/ Rosenstein Rodan/

Prof. Hirschman)

ks T o9 s wive SYRifeRvem 02E

——

(4. ofH%. R /3 cwE I/
e Rbem)

Name the founder of the theory of
cumulative causation.

Sf) e TGN TBEIT AN o
Choose the correct one :

B@ AR e -

Prof. Ragnar Nurkse’s name is
associated with the concept of balanced
growth/unbalanced growth.

S (AR AT AN TS %/ SRS
fa 4RAGR 7S G |

( Continued )

)

1)

f)

0)
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(3)

Mention any one problem of measuring
development in developing countries.
T (TS SHE (EIRE R @Al o1 T
Sy T

Which of the following sectors will be

more suitable for the use of capital
intensive technique?

-PRe @ IR AR TR T
Jo Sfde ToaM 237
(i) Oil refinery
(59 O
(i) Cooperative farming
R IR 1A
(i) Handicraft
ECIRE

Mention any one limitation of large-
scale industry in the context of a
developing economy.

T (PR SHAeY (RIS q¢ TEN
SR R @1 b1 SiaRae! $eay 41 1

Write any one significance of agriculture
in the development process of an
economy.

93 (PR G afdrre $lRvet R @ o
S foran |
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2. Answer the following questions :

(4)

woTs firdl et T fore

(a)

()

(c)

(d)

(e)

20A/136

State any two sources of economic
growth.

wfafes e R e 11 Bt Srad w41 |

Write any two features of economic
development.

QAR TR R e 1o e forn o

Mention any two significances of
measuring economic development.

AT Ta R R @I B ereon
TEd T

Give any two points of criticism against
the concept of balanced growth.

;TGWMﬁmﬁW
|

Point out any two problems of
agriculture in developing economy.

( Continued )

2x5=10

(S)

3. Answer any four of the following : 5x4=20
(a) Explain the meaning of economic
growth.
AR e S I 34

(b) Elaborate the concept of human
development index.

A T PR YRACHT IR o |

() Briefly explain the concept of ‘social
overhead capital’.

“N-ATR A4’ YRALGT TLF A 1 1

(d) Write a short note on ‘choice of
technique’.

‘G o7 Rca b1 5 B |

(e) Argue the case for small-scale sector in
the context of economic development of
a developing economy.

TamE (PR QWA TR TS FR
Trae 16T FoleH Y& SO |

() How did Myrdal explain regional and
international inequalities?

fius R Tefe O SRS e
7 FRfEe 2
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4. Answer any four of the following :

(6)

©eq R} e wifserE Teq forgn -

(@)

(b)

(c)

(d)

(e)

20A/136

Explain the limitations of gross
domestic product and per capita income
as indicators of economic development,

AT Tamw (AR Sfen R P =
oo o SR S RNRme! I w0

“Economic growth is quantitative, on
the other hand economic development is
qualitative.” Explain.
“Ieftafes AR ciREeee, RIS At
CHE B | 0 0

Describe the views of Prof. Lewis on
unlimited supply of labour.

A I @R e Syem Site
JOrTS 31 F97 |

Distinguish between balanced and
unbalanced growth.

Rfere W SElerS SRR AeE oA o |

“Labour-intensive technique is more
suitable than the capital-intensive
technique for a developing economy.”
Do you support it? Give reasons for your
answer,

TR ST WA J-RRS el
T-RRe e e TogE 1” YRR WA
FNA? AR &R W3 IR ey |

( Continued )

10x4=40

)]

20A—12*/136

(7))

Explain why small-scale industries are
more preferable for a developing

country.

SHEAE OMR AT TI-IER Trme 7wl
AR, T 0

Describe the comparative role of

agriculture and industry in economic
development of a country.

ol 9 wRASF Trwe IR W oo
463 PN SRR 31 fordn 1
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